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QUESTION 1

What is the purpose of the Forwarding Tag (FTAG) in Cisco ACI? 

A. FTAG is used in Cisco ACI to add a label to the iVXLAN traffic in the fabric to apply the correct policy. 

B. FTAG is used in Cisco ACI to add a label to the VXLAN traffic in the fabric to apply the correct policy. 

C. FTAG trees in Cisco ACI are used to load balance unicast traffic. 

D. FTAG trees in Cisco ACI are used to load balance mutli-destination traffic. 

Correct Answer: D 

Reference: https://www.cisco.com/c/en/us/td/docs/switches/datacenter/aci/apic/sw/1-x/aci-fundamentals/b_ACI-
Fundamentals/b_ACI-Fundamentals_chapter_010010.html#concept_1E8BF286E1C043EF839D80935FDF9F50 

 

QUESTION 2

A network engineer configured an active-active firewall cluster that is stretched across separate pods in the Cisco ACI
fabric. Which two implementation setups for anycast services are available? (Choose two.) 

A. Modify the Cisco ACI contract scope 

B. Modify the MAC address on the second firewall 

C. Configure the firewalls behind an EPG subnet 

D. Deselect No Default SVI Gateway under EPG Subnet 

E. Deploy a Layer 4 to Layer 7 service graph with PBR 

Correct Answer: BC 

 

QUESTION 3
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Refer to the exhibit. An engineer must have communication between EPG1 in VRF1 and External EPG in VRF2. Which
three actions should be taken for the defined subnets in the L3Out External EPG to accomplish this goal? (Choose
three.) 

A. Enable Shared Route Control Subnet 

B. Enable External Subnets for External EPG 

C. Enable Export Route Control Subnet 

D. Enable Shared Security Import Subnet 

E. Enable Aggregate Shared Routes 

F. Enable Import Route Control Subnet 

Correct Answer: CDF 

Reference: https://www.cisco.com/c/en/us/solutions/collateral/data-center-virtualization/application-centric-
infrastructure/guide-c07-743150.html 

 

QUESTION 4

Refer to the exhibit. Which configuration must be implemented to allow intra-VRF transit routing between the two
external routers? 

A. Deploy both areas under the same L3Out policy 
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B. Change one of the areas to area 0 

C. Configure OSPF virtual links 

D. Modify L3Out 1 to use the same OSPF area as L3Out 2 

Correct Answer: A 

 

QUESTION 5

Refer to the exhibit. How are the STP BPDUs forwarded over Cisco ACI fabric? 

A. STP BPDUs that are generated by Switch2 are received by Switch1 and Switch3. 

B. Cisco ACI fabric drops all STP BPDUs that are generated by the external switches. 

C. Cisco ACI acts as the STP root for all three external switches. 
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D. STP BPDUs that are generated by Switch1 are received only by Switch3. 

Correct Answer: A 

Reference: https://www.linkedin.com/pulse/cisco-aci-network-behaviour-stptcn-how-identify-loop-ankit-kulshresta 
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